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Height | Weight X Y

166 58 -5 7

176 75 5 10

171 62 0 -3

173 70 2 5

169 60 -2 -5

AVG 171 65 0 0
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Advantages of hierarchical clustering:
® Don’t need to know how many clusters you’re after
® Can cut hierarchy at any level to get any number of clusters
® FEasy to interpret hierarchy for particular applications
® Can deal with long stringy data
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Advantages of K-means clustering:
® Can be much faster than hierarchical clustering, depending on data
® Nice theoretical framework
® Can incorporate new data and reform clusters easily
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(2) project onto the subspace spanned by q; (larger eigenvalue) : (x, y) -
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(3) if v is a right singular vector (column of V) of X, X = UDV’" — X'X = VD' U’ (UDVT ) =vD*V’

AUE 8085 Mechanistic Data Science 5



